Phsl fourth Quizz
1- increase in the PTH secretion results in the following statement except:
a-increased synthesis at the active form of vit D

b- increased release of Ca+2 from the bone into the blood 

c-increased Ca+2 uptake by the bone 

d-increased blood Ca+2 level 

e- decreased phosphate reabsorption by the kidney
2- hypocalcemia may lead to :
a- decreased excitability of nerves 

b- decreased PTH secrtion 

c- spontaneous action potential which may lead to tetany 

d- increased calcitonin secretion 

e- none of the above

3-chvostek's sign's occur in:  
a- Graves disease 
b- hypothyrodism 

c- hypoparathyrodism 

d- pituitary dwarfness

e- Diabetes milletus

4- calcitonin :
a- inhinbits Ca+2 resorption 

b- is stimulated by hypocalcemia

c- is secreted by the parathyroid  gland 

d- stimulates Vit D synthesis

e- enhance Ca+2 reabsorption in kidney 

5-the active form of Vit. D is complete in: 

a- live 

b- kidney 

c- intestine

d- none of the above 
6 deficiency of Vit D in adult is called: 
a- Osteoprosis

b- osteomalasia
c- Graves disease 

7- osteoprosis is assoiated with: 
a- prolonged immobilization bones

b-hypoparathyrodism 

c- Vit D deficiency 

8- Vit D:
a- deficiency of Vit D in children is called cretinism 

b- deficiency of Vit D in children is called rickets

c- decrease reabsorption in the intestine

9- the volume responsible for lowering phosphate and Ca+2 in the body: 
a- TSH

b-GH

c-PTH

d-calcitonin

10- weakness of bones and fractures may occur in: 
a- Graves disease 

b- Addison disease 

c- hyperparathyroidism 

d- Cushing syndrome
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